
Expanding and Factorising 

Expand 2(3𝑥 − 5) Expand 4𝑦(𝑦 + 7)  Factorise 6𝑏 + 10 Factorise 𝑎2 − 3𝑎 

Multiply each term in the bracket by 2: 

2(3𝑥 − 5) 

= 2 × 3𝑥 − 2 × 5 

= 𝟔𝒙 − 𝟏𝟎 

Multiply each term by 4𝑦: 

4𝑦(𝑦 + 7) 

= 4𝑦 × 𝑦 + 4𝑦 × 7 

= 𝟒𝒚𝟐 + 𝟐𝟖𝒚 

Find common factors of 6𝑏 and 10: 

Common factor is 2 

6𝑏 + 10 = 2 × 3𝑏 + 2 × 5 

= 𝟐(𝟑𝒃 + 𝟓) 

Find common factors of 𝑎2 and 3𝑎: 

Common factor is 𝑎 

𝑎2 − 3𝑎 = 𝑎 × 𝑎 − 3 ×  𝑎 

= 𝒂(𝒂 − 𝟑) 

Expand 4(𝑎 + 6) Expand 3𝑥(𝑥 − 2)  Factorise 5𝑥 + 20 Factorise 𝑥2 + 9𝑥 

    

Expand 5(2𝑑 − 1) Expand 5𝑎(4 + 𝑎)  Factorise 16 − 8𝑦 Factorise 𝑑2 − 7𝑑 

    

Expand 7(3 + 4𝑤) Expand 2𝑓(𝑓 − 6)  Factorise 8𝑤 − 12 Factorise 2𝑦2 + 3𝑦 

    

Expand −4(2𝑥 + 5) Expand 4𝑏(2𝑏 + 5)  Factorise 7𝑎 + 7 Factorise 6𝑎 − 5𝑎2 

    

 


